LIVING SPACES

MARTINIQUE OUTDOOR DINING SWIVEL ARM CHAIR
16C0O65A-SV-KD

267635 Assembiy Instruction
Parts List: Hardware List:
REF. PART NAME PART IMAGE QTY REF. PART NAME PART IMAGE QTY

1 102 Metal washer

(mMm8,1Db*8.5, OD14)

Seat

1 101 Bolt M8*40

T-seat 049 Metal washer

A
B Seat base
C
D

<>w &

Cushion 2 091 |Bolt plastic cap(M8)

(mMm8,1b*8.5, OD14)

104 | Nut(M8)

092 Plastic nut cap(M8)

(=)
B
=
103 Lockwasher = 4
=
>
S __—_—F

003 Hex wrench

Diagram



Administrator
文本框
step2:

Administrator
文本框
step4:

Administrator
文本框
step1:

Administrator
文本框
step3:




